Voltage, curren

Ohm’s Law

The electrical potential difference betwe
equal to the current times the resistance bet

V =IR
V: electrical potential difference (voltage) in volts (V)

I: current in amperes (A)
R: resistance in ohms (Q)



You can rearrang
calculate any of the o
value of the other two.

Ohm's Triangle

* To find resistance: R = V/I
*To find current; | = V/R



The filament of a Iig)ht bulb has a res
What is the current”

1) Rearrange Ohm’s law (V = IR) into the formula

V=IR
| = VIR

2) Substitute the values for R and V into the formula:

1=5.0V/20 Q
| =0.20 A

The current is 0.20 A.



1. List the three symbols use
symbol represents and give the



Activity

 Looking at Current, Voltage



